APRIL - 2001

KD 705] Sub. Code : 4165

FIRST B.Pharmacy DEGREE EXAMINATION.
{Revised Regulations)

Paper V — MATHEMATICS INCLUDING
BIOSTATISTICS
Time : Three hours Maximum : 75 marks
Answer Sections A and B in the same answer book.
SECTION A — (6 = § = 30 marks)

(MATHEMATICS)
Answer any SIX questions.

xr+4

L. Express
P -4z + 1)

in partial fractions.

2. Find the sum to infinity of the seriea
3 o 7

_l_+_._ o e s & .o B

L2 L3 24

1 2 3
3. Show that the matriz A =l-3 -2 1| satisfies
i4 2 1

the equation A? - 234 — 407 =0 where [ is the third
order unit matrix.

4, Define the following ;
(a} Subsels
b} Union of seis

e} Intersection of sets,

A Simplify :
(cos3@ + isin38)° (cosd - iging)
(coab@ + isin®0) (cos20 - fsin29)t

6. Expand c0e®0 in a series of vosines of multiples

of 8.

7.  Differentiate sin™ [EE“] with respect to
+x
-1 1 - .'1.'-2 \hl|

1|.
1+x ]

chE

B Biym: o Et¥+l
dxr 2x +2y+1

W

Solve I%+y=.:"y‘*.

SECTION B — (3 % 15 = 45 marks)
{BIOSTATISTICS)
Answer any THREE gquestions.

1. {a) Explain the following

(i} TUses of Statistics in the field of
pharmacy.

{11} Graphic representation of a fregquency
distribution.
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APRIL - 20401

(b} Caleculate the Mean and Standard Deviation
for the following dates relating to the cencentration of
antibody in blood serum taken from 50 donors.

Antiboly In

Blond

Soram g T 45_E 45 5 EE-T a5 T =005 R A
Dinmora i1 | d T It
Aaviilady

Filood

Sarum (gl 1188-13.05 13.85-15 65 15.05=-4T 85 17851066
Denore [} ] Y | 1

11. (a}) Caleolate the Mean Dewviation from Mean for
the data found in question 10 (b} Also calculate the
fean Devialion from median

(b} Caleulate the eombined Mean and Standarcd
deviation from the lollowing dats !

Group  Number Mean Standard Deviation

A iy a6 3
B Bl 60 4
C 20 58 ]

12. (a] Caleulate the coefficient of ecorrelation
between x and ¥ from Lhe following dats
¥ TH 20 a7 632 =0 74 68 ¥
y: 125 137 156 112 107 138 123 108

{b) The following regression equalions were
ebtained from & correlation table :

v (1L516x + 33,73
r=0512y + 3252

Find the value of (1) the correlation coefficient
My the means of the voriables

4 | KD 7051

13 {a) Explain the following
f11 Mutualiy exclusive events,
lii} Independent events.
iiii} Conditional probability.

Iby Find the probability of drawing two yellow
tablets in succession from a botile containing 4 yellow
and 5 rod tablets when the teblet that is drawn first iz
(i replaced (i) not replaced

14, ta} Explain the follewing :
(i} FErrors in sampling.
litd  Critical region.
{iit) Verious types of sampling

M} In a factory there are Lwo independent
processes manufacturing the same tem. The average
waight in a sample of 250 items produced from one
procesg 18 found to be 120 gms. with & standaro
deviation of 12 gms, while the corresponding fipures in a
sample of 400 items from the other process are 124
and 14 Obtain the standard error of difference between
the Lwo sample means. ls this difference significant?
Algo ind the 99% confidetice imits for the difference in
the average weights of items produced by the two
processes respectively

4 | KD 705|
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Time ; Three hours

NOVEMBER - 2001
Sub. Code : 41656

FIRST B.Pharm. DEGREE EXAMINATION.
{Revized Regulations)

Paper ¥V — MATHEMATICS INCLUDING
BIOSTATISTICS

Maximurmn : 76 marks
Answer Sectiens A and B in same answer books.
SECTION A — (6 » 5 = 30 marka)
{MATHEMATICS)
Answer any 31K questions.

x+1

into partial fraction ——w————
Resolve into p on e

Eumtuinfmityl—3+%—1_2§€+...
i sl
IfFA=|2 1 1| find A® and transpose of A

-2 0 2

4 I P el B
478 4 0

u:':=['} 3 % | find 54 -4B+3C.

[ gin /8 + Imsar,n"ﬁ-r
| sinm/8+icosn/B

6. Find the modulus

i

o

3

and amplitude

| o

of

u'ri_'l—mslﬁ—" !+Euin[%}] and express it in Cartesian

3 )

form.
7. (a) If ¥ = ’ﬁ.ud‘—li.
al If y° =x e
If y = coa(x"¥" 8
(b} If ¥ =cosix }ﬁndd::

& Evaluate
() ‘l-EEu[Er:: Jeoaldx bdx

(b} [xlogx dx.

-1
9. Bolve: i-it-- L. senc y

dy 1+f-1+_-p"

2

24 +2§)

(24 +24)

[KE 7048]
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SECTION B — (3 = 15 = 45 marks)

(BIOSTATISTICS)
10. (&) Write with the help suitable example
distinetion between
{i} Continuous series and discrete series.

(i1} Exclosive and inclusive class intervals,
{5+ 5)

(b) Explain the terms :
{i} Range
{ii) Class limits
{i1i) Claeg intervals
(iv} Fregquency with suitable example, [5)
11. (a) Draw Histogram and Frequency polygon for
the given distribution : R £/

Marks (=) 010 1020 20-30 3040 4050
No. of

students (f) : 8 20 a6 15 3]

(b} Compute the mode of the given distribution :
(&)
Size of item : 4-8 B-12 12-16 16-20 20-24
Frequency : 10 12 18 14 10

Size of item : 24-28 2832 32-36 3640
Frequency : 8 17 5 4

3 [KE 7085]

12. (n) Cgleulate standard deviation from the
following data : (7
Sizeof item{x): 5 10 15 20 25 30 35
Frequency (f] : 2 7 11 15 10 4 1

(b} Calculate the coefficient of correlation for the
following age of hushands and wives : (8)
Husbands 5

EgE : 23 27 28 20 30 31 33 35 36 39
Wivesage: 18 22 23 24 256 26 28 20 30 32

13. (a) Define the terms with example :
{1} ‘Trial
{ii} Ewvent
{iii) Sample space
{ivl Mutually exclusive event

(v} Independent event. (100
(b) Explain the terms null hypothesia and
alternative hypothesis with example. {5}

14, {a) In a normal distribution 31% of the items are
under 45 and 8% are over 64. Find mean and standard
deviation. (74}

(b) The income of a group of 10000 persons were
found to be normally distributed with mean = Ra. 750
per month with a standard deviation = Ra. 50. Show
that of this group 85% had income exceeding Rs. 668
and only 5% had income exceeding Rs. B32. What was
the lowest income among the richeat 1007 (74)

4 [KE T05]
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[KG 705] Sub. Code : 4185

FIRST B.Pharm. DEGREE EXAMINATION.
i Revised Regulations)
MATHEMATICS AND BIOSTATISTICS

Time : Three hours Maximum : 75 marks
Answer Section A and Section B in separate Answer
Books,

SECTION A — (6 » 5 = 30 marks)
Answer any SIX questions,
(MATHEMATICS)

1.  Resolve into partial fractions :

2% +10x -3
ix +10(x - 3)ix +3)

(&)

2 Frove that
1 1+3 1+#3+5 . ,
:ﬁ+ = BE 5 + -« to infinity = 2¢ . {5)
| 1 125
3. If A=|2 4 E.m:]E=[ ].nﬂrv!*—hﬂ
2 4 8
5 6
(ABY =B A" (5)

4 KA=(0,1,B=1(1,2and C = {2, 3}, then find
{a) (AnB)x(B-0C)
(b) AuviBnC). {5}
5.  Find the real and imaginary parts of the complex

' 3+ %P
ber & = —0—v—
num T {5)
. Prove that
1+ cosgfd + ising ait
[l P i iﬂnﬂ']‘ = coa(nf) + isin(ng). {5)
1. If v =t log ﬂl-
y = (tanx) find e (5)
8. Ewvaluate: I xlein{2x) dx. (5)
9. Sum.ruu*}%nag:uf. (5)

SECTION B — (3 x 15 = 45 marks)
Answer any THREE questions.
(BIOSTATISTICSE)

10. - Find the mean, mode and median for the following
data : (3x5=15)

Clans AD-40 4050 SO0-B0  GO-TO  TOS0 A0S0 DO-100

Fregqueney ol 03 1l 21 43 az i3]

2 [RKG T05]
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11. (a} Find the mean deviation from the median for

the following data : (7
Class 1=3 3-5 5-T 7=8 811 ll=13 1815 15-17
06 B3 B85 66 21 b o4 04

(h) The nicotine content in milligrams of two

samples of tobaces were found to be as follows : (8)

Sample A 24 27 Z6 21 25
Sample B 27 a0 8 31 22 36

Find the standard deviation for gample A and
sample B.

12. {a) Find the coefficient of correlation between X
and ¥ (7

X 185 166 167 16T 168 1690 170 172
¥ 167 168 165 168 172 172 1686 171
{b) Obtain the equation for the regression line of
¥ on X for the following data : (8)
X 45 55 56 58 60 ©5 68 70 75 8D 85

Y b6 50 483 60 B2 €4 65 TO T4 B2 90

13. {a) Explain simple random sampling. [Ty

{b) A bag contains T white and 9 black balls. Two
balls are drawn in successiom at random. What is the
probability that one of them is white and the other is
black? 1]

3 [KG TO5]

14. (a) The probability that & shooter A hita a target
is 1/4 and the probability that a shooter B hits it is Z/5.
What is the probability that the target will be hit if 4
and B both shoot at the target? (T}

(b) An examinalion was given to 50 students at
college A and to 60 students at college B. At A, the mean
grade was 756 with a standard deviation of 9 and at B,
the mean grade was 79 with a standard deviation of 7.
Test the significance difference between the
performance of the students at college A and B. Given
that Z value at 5% level of significance is 1.96. (8)

4 [KG 705]



SEPTEMBER - 2002
[KH 705] Sub. Code : 4165

FIRST B.Pharm. DEGREE EXAMINATION.
(Revised Regulations)
Paper V- MATHEMATICS AND BIOSTATISTICS
Time ;: Three hours
Answer Sections A and B in SAME answer book.
SECTION A — (6 « § = 30 marka)

Maximum : TH marks

(MATHEMATICS)
Anawer any SIX questions,
. , . -2
1.  Resol partial fractions : — =
g ik OI1s :11.2}:_1-_—1':‘
! 3 3.5 3-5.7
2, o
Sum the series +4+-!-E 4-5-12+
T 6 2
8. Given A=|-1 2 4| find A",
3 3 H
é. I'F A=[ﬂ|b1fpdp3’1ﬂ=['u|nlepgl' a"nd
C={b,e,f,gl, then werify that (AwBInC=
(A OB NC).

. W4
.  Prove that ﬂ,:'—wﬂamg | = coshi = isinfé .
gind +icosd |
6.  Expand S;TLEE in terms of powers of cos@ |
1

7. I %’ =¢7 prove that B - 108X
dx {l'l'].l:lﬂ.‘t":la

B. Solve: (2x +18y —H}I%ﬂﬁ: +0y=T).

9. Bolve ‘Etﬂ.'iri—'}l+ dysinr =sinZx, gven that

y = {} when x:%—.

SECTION B — (3 = 15 = 45 marks)
(BIOSTATISTICS)
Answer any THREE guestions.

10. (a) Explain the following :

(i) Scope of statistical methods in medicine

(1i} Classification and Tabulation of data.

{b) Caleulate Mean, Median and mode for the

following data showing the protein intake of 400
families.

Protein intake!

consumption

unit'day (g) : 15-26 2535 3545 45-66
No. of families : 30 40 100 110
Protein inteke/

consumption

unit'day (g) : BH -85 65-TH TH5-H5

Mo. of families - 2] a0 10

2 [KH 7035]
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11. {a) The following are the levels of triglycerides
mga/DL ohaerved in 120 patients. Caleulate the quartile
deviation.
Triglyceride level ;  60-70 7T0-80 80-90 90-100
No. of patienta (f ) : 14 16 26 as

Triglyceride level :  100-110 110-120 120-130
No. of patients (f ) : 16 & é

{b} The mean and standard dewiation of 21
observations are 30 and § respectively. It was
subsequently noted that one of the observations viz; 10
was incorrect. Omit it and determine the mean and

standard deviation of the rest.

12, (a) The following data relate to the use of a
hypotensive drug and the recovery times (minutes)
besed on 10 cases. Calculate Pearson's coefficient of
correlation.

Drug used (mg) (X) : 2.26 181 1.72 154 2.08
Recovery time
{minutes) (¥) : 7 0 18 4 10

Drug ueed (mg) (X} :
Recovery time
(minutes) (¥ 13 21 12 o 20

229 180 232 2.04 1B

(b} Find the equations of regression lines to the
above data given in question 12 (a).

3 [EH 705]

13. (a) E=xplain the following :
(il Addition theorem on probability
(ii} Multiplication theorem on probability.

(b} Two scientists A and B work independently to
discover a new medicine for a disease. The probability
that the first one will discover it iz 3/4 and the
probability that the second one will diseover it ia 23
What is the probability that the new medicine will be
discovered?

14. (a) Explain the following
(1) Probability sampling techniques
(1) Test of significance
(1) Null Hypothesis.

(b} The following table gives the number of
accidents that occurred in a factory during the days of
the week, Test whether the accidents are uniformly
distributed over the weelk.

Days : Mon Tue Wed Thurs Fri Sat
No. of
recidents 14 15 12 11 15 14

i{Given the value of Chi-square significant at
o, 6, T degreea of freedom are respectively 11.07, 13.58,
14.07 at 5% level of mgnificance)

4 [EH 705]
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[KI 705] Sub. Code : 4165

FIRST B.Pharm. DEGREE EXAMINATION,
{Revised Regulations)

Paper V— MATHEMATICS AND BIOSTATISTICE
Time : Three hours Maximum : 75 marks
Answer Section A and B in the SAME Answer Books,

SECTION A — (6 = § = 30 marks)
(MATHEMATICS)
Answer any SIX questions.

2x -1

1. Reszolve into FIE.I"t.iﬂl. fraction m.

1-2 3-4 BB
5 =4 3 1 3 4
3 IfA= and B = find 24+ 8
2 3 4 2 01
and 28 - A
2 3 0
4 If A= find AAT and AT A,
3 -11

5.  Find the real and imaginary part of the complex

2431
mbe ,
e T

»n
6  Simplify {m%ﬂnin—?} using DeMoivrels
theorem.
7.  Differentiate x” sin3x.
T

8. Ewvaluate ‘+?'l‘-3 !
I[I :+:’+F*:+

. x-2y+1]
9. Solve: E -
SECTION B — (3 x 15 = 45 marks)
(BIOSTATISTICS)
Answer any THREE questions.

10. (a) The following table gives the [requency
distribution of the weekly wages of 100 workers in a
drug manufacturing company.
Weekly wages : 20-25 25-30 30-35 350 40-45 45-50
No. of workers: 4 5 12 =3 31 10
Weekly wages: 50-55 55-60 60-65
No.of workers: B 5 2
Draw Histogram on the graph sheet. ()

{b) From the following distribution find out mean
and median. (8)
Clags (X7 ; B84 65 66 67 68 60 TO T1 T2 73
No.ofatudenta(): 1 & 10 22 21 17 14 & 3 1

2 [KI 705]
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11. ia} Compute Standard Deviation for the following
dota : (8)

Class : 4-6 6-8 B-10 10-12 12-14 14-16

13 111 182 105 19 o7
(b) Performance of two teams A and B in

Kho-Kho is as following : mn
A B

Mean score : B 14

Standard Deviation : 12 8

State with reasons which team is more
consstent,

12. (a) Obtain the regression equation of ¥ on X from
the following table and estimate the blood pressure

when the age is 45 years, (74)
Age : 56 42 T2 38 B3 47 55 49 38 472 &3 &0
Eisod

Pressure = 147 125 160 118 149 128 150 145 145 140 152 155

(b} Find the coefficient of correlation for the data
given beiow :
Capital (X): 10 20 30 40 50 60 70 B0 90 100

Profit (Y : 2 4 B8 B 10 16 14 20 22 30

(T4)
3 [KI 705]

18. (a) Average sales of Bata Shoe company's
multiple shops are Rs. 12,500 per month with a
standard deviation of Rs. 4,050. Find out what
proportion of all shops sold between Rs. 12,500 and
Rs. 16,560, (5)

(b) The mesn wage of a certain group of workers
is 500 rupees and o (s.d) 1z 100. Find what percentage
of workers get above 375 rupees. (5

{e) If a distribution has a mean of 30 and o

(standard deviation) of 5, what area lies under the
pormal curve between: the 30 and 387 (&)

14. (a) Define probability and sample space with
example. 24+ 2L =05)

(b) When & pair of dice is thrown, find the
probability of getting sum 5 and sum 7. (5)

{e) A box contain 14 marbles of which 4 are red,

5 green and 5 blue, six marbles are drawn at random.
Find the probability that cut of these, exactly 3 are red.

(5)

4 [KI 705]
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[KJ 705] Sub. Code : 4165
FIRST B.Pharm. DEGREE EXAMINATION.
(Revised Regulations)

Paper V — MATHEMATICS AND BIOSTATISTICS
Time : Three hours Maximum : 75 marks

Two hours and
forty five minutes
for Sec. A and Sec. B Sec. A & Sec. B : 60 marks
Sec. C: Fifleen minutes Section C : 15 marks
Answer Sections A and B in the SAME Answer Books.
Answer Section C in the SEPARATE Answer Sheet.
SECTION A — (2 x 15 = 30 marks)

1. Answer (a) and (b) Or answer (¢) and (d).

1 2 =1
(a) Find the inverseof [-1 1 2
g2 -1 1
(b) Sum to infinity
_a.n a7
AT TR
Or

(¢) Find the cube roots of (1 +iv3).
(d) Solve: (x-y-2Mdx-(2x -2y -Jdy=0.
2. Answer (a) and (b) Or answer (¢) and (d).

(a) Explain two methods of claggification.
{(b) Find the mean, median and mode of :

Marks 0-10 10-20 20-30 30-40 40-50
Students : 2 18 30 45 35
Marks 50-60 60-T0 TO-B0

Students : 20 ] d

Or

(e} Which of the players whose score in 12 rounds
are given below is more consistent and why?

A T4 75 78 T2 78 TT 79 Bl T TE T T
B: 87 B84 BD B8 80 B85 86 82 B2 T9 86 B0

(d) Obtain the lines of regreasion and show them
on graph for the following data :
X: 12 3 4 5 6 7T B &
Y: 9 8 10 12 11 13 14 16 15
2 [KJ 705]
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SECTION B — (6 % 5 = 30 marks)

3. Answer any SIX.

(1) If the 20% of the bolts produced by a machine
are defective, determine the probability that out of 4

bolts chosen at random,

(i) 1 will be defective

(i) 0 will be defective

(iii) at most two will be defective.
(2) Resolve into partial fraction :

Sx =T
(x +BNx+THx +3)

(3) Prove that
i

1+:inf-+jmn£ q q

x E - lﬁ“l- 16"
1+gin—=i =
lm2 u.-u:-lE

(4) Find Laplace transform of L{™¥ cos5t ).

3 [KJ 705])

(6) Name the different types of diagrams and
explain any one of them.

dy 3y 1
(6) Suha;ﬁi--}::—n.

(7) Caleulate the co—efficient of corralation for the
following data :

X: 23 27 28 29 30 31 33 35 36 39
Y: 18 22 280 24 25 26 28 29 30 a2
(8) Find the standard deviation for the following

data :
Clagsa: 6-156 16-25 25=35 35=45 45-=55
f : B 12 15 9 6

4 [K.J 705)
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[KK 705] Sub. Code : 4165

FIRST B.Pharm. DEGREE EXAMINATION.
(Revised Regulations) |
MATHEMATICS AND BIOSTATISTICS

Maximum : 75 marks
Sec. A & B : 60 marks

Time : Three hours

Sec. A & B : Two hours and
forty five minutes

M.C.Q. : Fifteen minutes M.C.Q. : 15 marks

Answer Sections A and B in SAME Answer books.
Answer M.C.Q. in the SEPARATE answer sheet.

SECTION A — (2 x 15 = 30 marks)

1.  Answer (a) and (b) or answer (c) and (d).

1 -1 -2
(@) IfA=(2 1 1 |findA™l (8)
4 -1 -2
5 7 .9
(b) Provethat3+ﬁ+§j+3§+ ..... =be. (7
Or
(¢) Find the cube roots of (3 +i). ®)
(@ Solve: (x? + y2)dx = 2xydy. ™

2.  Answer (a) and (b) or answer (c) and (d).

(a) Describe the various measures of central

tendency. (7)
(b) Find the mean and mode for the following
data : (8)

Class: 0-10 10-20 20-30 30-40 40-50 50-60
P 15 17 19 27 19 12

Or

(¢) Two groups of patients in a hospital were
treated with two medicines A and B to test the increase
in the weights. Following table gives the weights in kgs.
of the patients in each group : (7

Groupl: 42 39 48 60 41

GroupIl: 38 42 56 64 68 69 62

Find the standard deviation and coefficient of
variation for Group I and Group II.

(d) If x is the level of water in inches used for
irrigation land and y is the yield in kg per acre, obtain
the linear regression equation of y on x from the
following data :

x: 12 14 16 18 20 22 24 26 28 30
y: 400 410 430 440 420 460 470 450 390 400

Also estimate the value of y when
x = 32 inches. 8

2 [KK 705]
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SECTION B — (6 x 5 = 30 marks)
Answer any SIX :

3. A ball is drawn at random from a box containing
6 red balls, 3 white balls and 7 blue balls.

Find the probability that the ball is

(a) red
(b) white
(¢) blue

(d) not blue and

(e) red or white.

4. Resolve into partial fraction
2¢% +1

(x + 2)(x - 1)2 .
5. Prove that

« . n
[l-i-cosaﬂsmo] =cos(n9)+isin(n9).

1+ cosB —isinf

6. Find the Laplace Transform of e sin®t.

7.  Solve: %i +2ytanx =sinx.
%

3 [KK 705]

8.  Plot a histogram and a frequency curve on graph
paper from the following data : '

Blood pressure 70-74 75-79 80-8B4 85-89 90-94 95-99

(in mm) :

Number of men : 06 18 46 17 06 02

9. Following data gives the heights of fathers (X) and
their sons (Y) in inches :

X: 65 66 67 67 68 69 70 72
Y: 67 68 65 68 72 72 69 T1

Find the coefficient of correlation between
XandY.

10. Find the quartile deviation for the following data :
Marks : 0-10 10-20 20-30 3040 40-50

Number of 05 08 15 16 06
students :

4 [KK 705]
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[KK 705] Sub. Code : 4165

FIRST B.Pharm. DEGREE EXAMINATION.
(Revised Regulations)

Paper V— MATHEMATICS AND BIOSTATISTICS

Time : Three hours Maximum : 75 marks

Sec. A & B : Two hours and Sec. A & B : 60 marks

forty five minutes

M.C.Q. : Fifteen minutes M.C.Q.: 15 marks
Answer Sections A and B in the SAME Answer Book.
SECTION A — (2 x 15 = 30 marks)

Answer the following questions.

1. (a) (@) Find the inverse of the matrix
3 1 2
A={2 -3 -1
1 2 1

(i) Sum to infinity :

, 1,138 135

8 816 8.16.24

......

(iii) Prove that

1+1+2+1+2+3+-.-- _Ee
2 3! T2
Or

(b) () Ifu=log, tan(% + g) then prove that
tanh(-l-‘-) = tan(g)
2 2
(i) Solve: (xy® +x)dx +(yx® +y)dy =0.
2 dy 2
(iii) Solve: (1+=x )E +2xy = 4x°.

Find the mean, mode and median for

2. (a @
the following data :

12-16 | 16-20 | 20-24
12 5 2

2 (KK 705]

Class | 04 [ 4-8 | 8-12
& 4 6 8
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(ii) Find the standard deviation for the SECTION B — (6 x 5 = 30 marks)
following data :
Class|[20-30[30-4040-50{50-60[60—70]70-80[80-90 Answer any SIX questions.
f 3 61 | 132 | 153 | 140 | 51 9 3. The probability that a student passes a physics

. 2 s
(iii) Find the mean deviation from the mean test is 3 and the probability that he passes both a

for the following frequency distribution :
Class | 24 | 4-6 | 6-8 | 8-10

Physics and an English test is :—;—.'I‘he probability that

f 3 4 2 1 he passes atleast one test is % What is the probability
Or that he passes the English test?
(b) (1) Explain the terms : population, sample 4. Resolve into partial fraction :
and sampling. Point out the difference between statistic
and parameter as used in sampling theory. x+1 '
z*-5x+6

(ii) The time-taken by workers in

performing a job by Method-I and Method-II is given 5.  Prove that
below :
Method-I |20 16 26 27 23 22 [“"”"*{ L ] = cos(n@) +isin(nd).
1+cosf@-isiné

Method-II | 17 33 42 35 32 34 38

Do the data show that the variances of 6. Find the Laplace Transform of

time distribution from population from which these sin(3¢) cos(22).
samples are drawn do not differ significantly?

3 [KK 705] 4 (KK 705]
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7. Draw a pie diagram to represent the following

population in a town :
Males 2,000
Females 1,800
Girls 4,200
Boys 2,000
Total 10,000

8. Find the coefficient of correlation between X and ¥
for the following data :

X: 78 36 98 25 75 82 90 62 65 39
Y: 84 51 91 60 68 62 86 58 53 47

9. The probability that a contractor will get a
plumbing contract is % and the probability that he will

not get an electric contract is -:— If the probability of

getting atleast one contract is % What is the
probability that he will get both the contracts?
5 [KK 705]

10. Find the equation of the line of regression of ¥y on x
for the following data of the age of husband (X) and the

age of wife (Y) :
X: 36 23 27 28 28 29 30 31 33 35

Y: 29 18 20 22 27 21 29 27 20 28

[KK 705]





